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8.2 - I will use pythagoreans theorem and its 
converse to solve problems

real life example:
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Theorem 8.4 - Pythagorean Theorem

In a right triangle, the square of the length of 
the hypotenuse is equal to the sum of the 
squares of the lengths of the legs.

Pythagorean Triple - a set of three positive 
integers a, b, and c that satisfy the equation 

a2 + b2 = c2.

For example:  3, 4, 5
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Theorem 8.5 - Converse to the Pyth Theorem

If the square of the length of the longest side of 
a triangle is equal to the sum of the squares of 
the length of the other two sides, then the 
triangle is a right triangle

Thm 8.6 - 

if the square of the length of the longest side of 
a triangle is less than the sum of the squares 
of the lengths of the other two sides, then the 
triangle is acute
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Thm 8.7 - 

if the square of the length of the longest side of 
a triangle is greater than the sum of the 
squares of the lengths of the other two sides, 
then the triangle is obtuse
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pg. 552 #10-14 even, 16, 22-28 even, 38, 40


